Assembly Instructions
LCC-203 Savannah Swing

& D Required Tools:
: ¥ - Hammer
- Cordless Drill
- #2 Square Drive Bit
- 1/2" and 7/16"” Wrench or
Socket

Hardware:

- Swing Chains

- (4) 5/16" Nylon Lock Nuts

- (3) 1/4” x 3" Lag Bolts

- (4) Connector Links

- (4) 1/4" x 3 1/2" Carriage
Bolts

- (4) 1/4” Nylon Lock Nuts

- (7) 1/4” Washers

- (4) 2" Screws

- (2) 5/16" x 4" Eye Bolts

- (2) 5/16" x 5" Eye Bolts

- (4) 5/16" Flange Nuts

- (4) 5/16" Washers

Step 1 Step 2

Mount back (A) onto seat (B) with (3) 1/4" x 3" lag
bolts and washers. Insert lag bolts through pre-drilled
holes in back keeping flush with back of seat supports
as shown. Do not tighten all the way until step 3 is
complete.

Attach arm rests with (4) 1/4" x 3 1/2" bolts, washers
and nylon lock nuts on sides. Also fasten front boards
with (4) 2" screws as shown. NOTE: left and right.

WILDRIDGE

PURVEYORS OF QUALITY POLY FURNITURE

www.wildridge.com
\ 330-893-4212

© 2017)




Assembly Instructions
LCC-203 Savanah Swing

Step 3 Complete
Now thread a flange nut on all eye bolts as far as thread

allows with flange away from eye. Using the shortest

eye bolts for the front of arm and longest in back, feed

through pre-drilled holes and fasten with 5/16" washers

and 5/16" nylon lock nuts. Use the (4) connector links

to attach chain to eye bolts.

WILDRIDGE

PURVEYORS OF QUALITY POLY FURNITURE

www.wildridge.com
330-893-4212 © 2017




